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c

c------ chi2_bf7_a7_r436.ana ----=-
c
¢--~--- beam/hodoscope ------
analys
1
3
c all events
hstl

10, 1,1,1,3, 500,0,2000,"A F12A"
19, 1,2,2,3, 500,0,2000,"A F12B"
e, 1,2,2,15, 4000,0,100,"TOF F12B"
e, 1,5,5,15, 4000,0,100,"TOF F3"
19, 1,6,6,15, 4900,0,100,"TOF F7"
e, 3,1,7,3, 2000,0,2@00,"A hod"
10, 3,1,7,3, 400,800,1200,"A hod"
19, 3,1,7,9, 625,-5,20,"TOF_hod"
10, 3,1,7,9, 100,-1,2,"TOF_hod"

c select ZB=Zf=

gate

1, 1,1,1,3, 440,560

2, 1,2,2,3, 400,600

3, 1,5,5,15, 9.9,11.5

4, 1,6,6,15, 9.0,11.5

11, 3,1,7,3, 940,1100

12, 3,1,7,9, -1,1

and

13, 1,2,3,4

14, 11

15, 13,14

stop

-15

¢ check Z=7 gate

hstl

19, 1,1,1,3, 500,0,2000,"A Fi2A g"
19, 1,2,2,3, 500,0,2000,"A F12B g"
te, 1,2,2,15, 500,0,20,"TOF F128B g"
e, 1,5,5,1 "

10, 1,6,6,1

19, 3,1,7,3

e, 3,1,7,3

1e, 3,1

e, 3,1,

lexit

c

P—

c

analys

4

5

16

7

eff

)

Sy 265

w e

PIE o7
_;}. +

PIJT @7 5% —Pl AJF exp (—I.Sxpzxt)

t

- ——Jz— exp (—O.S'x yzx-t)

— Pl exp (-— P2 xi)

hstl
@, 6,11,11,5, 500,@,0.5,"chi2 Bx all”
e, 6,21,21,5, 500,0,0.5,"chi2 By all”
, 6,31,31,5, 500,0,0.5,"chiz Fix all”
» 6,41,41,5, 500,0,0.5,"chi2 Fly all"
, 6,51,51,5, 500,0,0.5,"chi2 F2x all"
; 6,61,61,5, 500,0,0.5,"chi2 F3x all"
> 6,71,71,5, 500,0,0.5,"chi2 F3y all”
st1
6 5,'dx Bx atl'

,101,105,4, 200, -2.
, 6,106,110,4, 200,-2
, 6,111,114,4," 200, -2.

6,131,135,4, 200,-2.
, 6,136,139,4, 200,-2.

[)
9

)

)

)

h

[)

)

)

0,

0, 6,121,124,4, 200,-2.
e,

0

h

[)

°

°

°

°

°

6,-
6,-
6,-
6,-
6,-
6,-
6,-

. ¢ gate on #planes

5,2

5,2.5,'dx By all'

5,2.5,'dx Flx atl’
6,115,118,4, 200,-2.5,2.5,"'dx Fly atl’

5,2.5,"dx F2x all'

5,2.5,'dx F3x all"'

5,2.5, 'dx F3y all'

5,5.5,"np Bx all"

5,5.5,"np By al1"

5,5.5,"np Flx all”
.5,5.5,"np Fly all1"
.5,5.5,"np F2x all”
5,5.5,"np F3x all"
5,5.5,"np F3y all"

¢ Bx By Flx Fly F2x y
‘¢ 13,14,15 23,24,25 33,34 43,44 53,54 63,64,65 73,74
gate
13, 6,11,11,4, 2.5,3.5
14, 6,11,11,4, 3.5,4.5 #?IWVL
15, 6,11,11,4, 4.5,5.5
23, 6,21,21,4, 2.5,3.5
24, 6,21,21,4, 3.5,4.5
25, 6,21,21,4, 4.5,5.5
33, 6,31,31,4, 2.5,3.5
34, 6,31,31,4, 3.5,4.5
43, 6,41,41,4, 2.5,3.5
44, 6,41,41,4, 3.5,4.5
53, 6,51,51,4, 2.5,3.5
54, 6,51,51,4, 3.5,4.5
63, 6,61,61,4, 2.5,3.5
64, 6,61,61,4, 3.5,4.5
65, 6,61,61,4, 4.5,5.5
73, 6,71,71,4, 2.5,3.5
74, 6,71,71,4, 3.5,4.5
c
hstl
13, 6,11,11,5, 6002,9,0 Bx p3"
14, 6,11,11,5, 600,0,0 Bx p4”
15, 6,11,11,5, 600,0,0 Bx ps5*
.
23, 6,21,21,5, 600,0,0.3,"chi2 By p3"
24, 6,21,21,5, 600,0,0.3,"chi2 By p4"
25, 6,21,21,5, 600,0,0.3,"chi2 By p5"
3
33,'6,31,31,5, 600,0,0.3,"chi2 F1x p3"
34, 6,31,31,5, 600,0,0.3,"chi2 Fix p4"
¢
43, 6,41,41,5, 600,8,0.3,"chiz Fly p3"
44, 6,41,41,5, 600,0,0.3,"chi2 Fly p4"
c
53, 6,51,51,5, 6€00,0,0.3,"chi2 F2x p3"
54, 6,51,51,5, 600,0,8.3,"chi2 F2x p4"
<
| 63, 6,61,61,5, €00,0,8.3,"chi2 F3x p3"
| 64, 6,61,61,5, 600,0,0.3,"chi2 F3x p4”
! 65, 6,61,61,5, 600,0,0.3,"chi2 F3x p5"
c
73, 6,71,71,5, 600,0,0.3,"chi2 F3y p3"
74, 6,71,71,5, 600,0,0,3,"chi2 F3y pa"

H

G =100 um . qpefa 5l aqefs
3 0.021 0.03% 0.061
4 @@ 6.023 0.030 0.0
C® 0.02\ 0,026 0.03%
g e 2o
Frliyicced
A
S o an
103

102
T TR T P
0 002 0.04 006 0.08 0.1 0 002 0.04 006 0.08 0.1
chi2 F3x p5 chi2 F3x p4
104E W %
E ss120

0.1451€-01 *

0.02 0.04 0.06 0.08 0.1

chi2 F3x p3

60=0.1

pPa=s00 10:
F3X P3,P%,PS
£0.025
fune_P3
P4 «Ff Tt

PS

Lt vaﬁ:‘mly
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Pioctast & x
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3 [k osmeo nE _ ouwnca s ol BHEALS  zog2s LN X5 7. A Y. . 1o X
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2\ [ £0.025 x o Asum i E
107k 2 i
3 10% 0L
10 [ F : |
ELL /RN A N — 0 01 02 0.3 0 01 02 0.3
0 01 02 0.3 0 01 02 0.3 . iz g [D50N=115161  ID=31,N=34464
1D=24,N=90022 ID=25,N=190353 : cHerIEp. chi2 Flxp4 :
chi2 Bx p3 chi2 Bx p4 i F B 7 Y
’ Iy 4 Entnes 15392
07 i 1P proerry Fi ‘TO/LL’"\
oih 103212 <0025
‘ 5
£p.018 _\ q%
. s 107
i £
) 10k i
: l ,
) : 10 i
0 01 02 0.3 0 01 0.2 0.3
-~ ID=32N=153432 ID=33.N=295414
0 0.1 . _a226 N_16275(;.3 i chi2 Fly p3 chi2 Fly p4
chi2 Bx p5 1045 .
i A ' g B g F3X  ~/Qum
H ’ DSI79E01
107 (& 05529501 B% 5,% " ; Io’L Cu
E 155+2 £002 . 5\ TELTTLPETE
103\ ]02' 1044
"t "y : .

10 E :
E ; T I | | ; |
N A 'o|2' . 0l 02 o3 0 Y R
0 01 . . i ) ID=36.N=56180 1D=37,N=184748
ID=27.N=9]1458 ID=28,N=190889 chi2 F3x p3 chi2 Faxpd
chi2 By p3 chi2 By p4
i .
-y
10 i : : i 0 01 02 0.3
0 2 02 03  ID=38N=249644
ID=29.N=161334 e chi2 F3x ps
chi2 By p5 t i ,
i F L3 a 4 o =
F . 104E 1=
. e m F2X Fum . Bie e 3 T 3% ~Bbum
104k do | Lmen
E 3
R 1261\ £0.02% Se.02¢ 4| €0.02¢%
10°1 8
" R x
10 T H H
L PEPETERTE RS L RN I I i i |
0 0.1 02 0.3 0 01 02 0.3 Lo 0.2 0.3
—34.N= —35,N=285367 . =39,N= [D=40.N=274674
chi2 F212§34,N_151590 ez rint chi2 F3y p3 chi2 F3ypt




gate .
105 11, 6,11,11,5, 0.0,0.1
21, 6,21,21,5, 0.0,0.1
31, 6,31,31,5, 0.0.0.1 1 0Ot
41, 6,41,41,5, 0.0,0.1
----- chiz2_bf7_a7_r436.ana ------ r433-440 51, 6,51,51,5, 0.0,0.1
61, 6,61,61,5, 0.0,0.1
————— beam/hodoscope ---~-- 71, 6,71,71,5, 0.0,0.1 run436
alys gate he 4 =3 H A
13, 6,11,11,4, 2.5,3.5 i i L ] :
14, 6,11,11,4, 3.5.4.5 113000 £ B 20000 [ ] 20000
all events 15, 6,11,11,4, 4.5,5.5 £ ';,... C 15000
t 23, 6,21,21,4, 2.5,3.5 110000 F 43 F
J1,1,1,3, 500,0,2000,"A F12A" 24, 6,21,21,4, 3.5.4.5 £ 10000- | 10000
) 1,2,2,3, 500,0,2000,"A F17B" 25, 6,21,21,4, 4.5.5.5 ! so00 £
' 1.2,2.15, 4000,0,100, "TOF F12B" 33, 6,31,31.4, 2.5.3.5 i F 5000
) 1,5,5,15, 4000,0,100, "TOF F3" 34, 6,31,31,4, 3.5.4.5 ! 0 Eu s 0 0
) 1,6,6,15, 4002,0,100, "TOF F7" 43, 6,41,41,4, 2.5.3.5 ! 2 0 2 2 0 2
) 3,1,7,3, 2000,0,2000,"A hod” 44, 6,41,41,4, 3.5.4.5 i 42 N=
' 311.7.3, 400,800,1200,"A hod" 53, 6,51,51,4, 2.5.3.5 ! {Dti;;lzsflp?n”gj
) 3,1,7,9, 625,-5,20, "TOF_hod"
. 3,1,7,9, 100,-1,2, T0F_hod" 20000
select ZB=Zf=7 54, 6,51,51,4, 3.5,4.5
Y 63, 6,61,61,4, 2.5,3.5 15000 20000
3 1,1,3, 440,560 B4, 6,61,61,4, 3.5,4.5 E
1,2,2,3, 400,600 : 72, 2.31,31,4, 4.5,5.5 .
1,5,5,15, 9.0,11.5 7 S TLTLa 25,35 E 10000 10000
1,6,6,15, 9.0,11.5 M, 671,73, 3.5,4.5 5000 [ F b
3,1,7,3, 940,1100 . E E r
3.1.7.9, -1,1 ﬁc?\_sq(#planes) 0 b . o L 0 C T n
| st . . ] 2 ] 2 2 0 2 2 0 2
12,54 ) 13, 6,11,11,5, 200,8,0.1,"chi2 Bx p3 _
: 14, 6,11,11,5, 200,0,0.1,"chiz Bx p4" IDodoN=762702
s 15, 6,11,11,5, 200,0,0.1,"chi2 Bx p5" Byp
: ,
0 i E
P : 23, 6,21,21,5, 200,0,0.1,"chiz By p3" 15000 20000 F-
~ 1,21,5, 200,0,0.1,"chi2 By ps” E
check 7=7 gate D b peain
o 9 25, 6,21,21,5, 200,0,0.1,"chiz By p5" 10000 15000
, 1,1,1,3, 500,0,2000,"A F12A g" < . i - E ] E
) 1,2,2,3, 500,0.2000,"A F128 g" 3, 6,31,3L5, 200,0,0.3,7chiz Fix p3° o0 : 10000
, 1,2,2,15, 500,0,20,"TOF F12B g" 3 63 1,5, 200,0,0.1,"chi2 Fix p4 E 10000 £ 5000 F
) 1,5,5,15, 500,0,20,"TOF F3 g" s . : E : E
! 1665, 000,50, ToF £ o . 641,415, 200,0,0.1,7chiz Fy g3 0 i >
) 3,1,7,3, 2000,0,2000,"A hod g" 44, 6,41,41,5, 200,0,0.1,"chi2 Fly p4 2 0 2 2 0 2 2 0 2
3.0,7.5. 400,500 1200 "A hod o - 1D=47N=315169 ID=48,N=116853 =49, N=
3.1.7.9, 625 -5 20 7T a . 53, 6,51,51,5, 200,0,0.1,"chi2 F2x p3" x Fixnd o 6 lDdx‘;g].N ;11768
» 3,1,7,9, 625,-5,20,"TOF_hod g s . P 32
S e whoR hod g 54, 6,51,51,5, 200,0,0.1,"chi2 F2x pa"
N 4
t
x . 63, 6,61,61,5, 200,0,0.1,"chi2 £3x p3"
64, 6,61,61,5, 200,0,0.1,"chiz F3x pa"
_____ ¢ D! , 6,61,61,5, 200,0,0.1,
C, track fml events 65, 6,61,61,5, 200,0,0.1,"chi2 F3x ps"
1 - c
atys 73, 6,71,71,5, 200,0,0.1,"chi2 F3y p3”
74, 6,71,71,5, 200,0,0.1,"chiz F3y pa”
7 2009105125 21
c dx (#planes)
p 5, g.igi,;gg,:, 400,-2,2, dx Bx p3- = rund36
, 6,101,105,4,. 400,-2,2, 'dx Bx p4’ . e ; A o E
| 15, 6,101,105,4, 400,-2,2, dx Bx p5' ) 0000 30000 = 40000 E
| 23, 6,106,110,4, 400,-2,2,"dx By p3' 83, 11,15 . . F :
| 24, 6,106,110,4, 400,~2,2,"'dx By p4' 84, 21,23 20000 - 20000 v 30000 £
i . 25, 6,106,110,4, 400,-2,2, 'dx By pS5' 85, 21.24 E E E 3
a > £l ’ Ty 3 16y R £l El s C r 5
6,11,11,5, 500,0,0.5,"chi2 Bx all* S eibhen mecnzecPlops g6, 2,35 : 10000 | 10000 - -
6,21,21,5, 500,0,0.5,"chi2 By all” © 43 61151184, 400 -2 2 1dx Fly bgr | orr 31,33 F s 10000 £
6,31,31,5, 500,0,0.5,"chi2 Fix ali” et 5112 1184 400 33 ype ] 8, 31,34 ‘ E E
6,41,41,5, 500,0,0.5,"chi2 Fly all” ) 8115, 118,4, 400,-2,2, 1dx Fly p41 | 59, 41,43 0 i 0 03
»41,41,5, »9,0.5," chi y . 53, 6,121,124,4, 40@,-2,2,'dx F2x p3' 90, 41,44 -2 4 2 -2 0 2 -2 0 2
6,51,51,5, 500,0,0.5,"chi2 F2x all 54, 6,121,124,4, 400,-2,2,'dx F2x pa’
6,61,61,5, 500,0,0.5,"chi » : » 0,121,124,4, 400,-2,2,'dx F2x p4' | 91, 51,53 1D=52,N=1100006
,61,61,5, 0, ,"chi2 F3x all "
6,71,71,5, 500,0,0.5,"chi2 F3y all" o Oy 400,22, A Bxopd | 92, 51,54 e F2xpd
s » 6,131,135,4, 400,-2,2,"dx F3x p4' 93, 61,63 R
: 65, 6,131,135,4, 400,-2,2,'dx F3x pS' 94, 61.64 [
6,101,105,4, 200,-2,2,'dx Bx all’ . 6136 139 4. 400 -2 2.1 [ E : F
6,106,110,4, 200,-2,2, "dx By all’ 73, 6,136,139,4, 400,-2,2,"dx F3y p3' | 95, 61,65 - 8000 ; 20000 R |Fia 0000
6,111,114,4, 200,-2,2,"'dx Fix all’ 74 8,136,139,4, 400,-2,2,"dx F3y p4' 96, 71,73 E a = E 5
LEd i) 16y i T [ £ :
6,115,118,4, 200,-2,2,dx Fly all’ o P97, T4 oo r 20000 - :
6,121,124,4, 200,-2,2,'dx F2x all’ 81, 11.13 < - 4000 £ 10000 F :
6,131,135,4, 200,-2,2,"dx F3x all’ 82 1114 o] heet 3 o 10000 £
6,136,139,4, 200,-2,2,'dx F3y all’ » © 81, 6,101,105,4, 400,-1,1, 'dxBx p3 x2g' o 2000 £ E E ;
1 ' : | 5 o1t tens’ dea iy b bt g, - ot . oL ok it
6,11,11,4, 6,-0.5,5.5,"np Bx all” » 6,101,105,4, 400,-1,1,'dxBx pS x2g' 2 0 2 2 .
6,21,21,4, 6,-0.5,5.5,"np By ail" : | 54, 6,106,110,4, 400,-1,1, dxBy p3 x2g' : . : ? . :
6,31,31,4, 6,-0.5,5.5,"np Fix all" | 85, 6,106,110,4, 400,-1,1,"dxBy p4 x2g' ID=33N=160573 D=4 N=667082 1D=55N=1102847
6,41,41,4, 6,-0.5,5.5,"np Fly all” 86, 6,106,110,4, 400,-1,1, dxBy p5 x2g' R “Fept acFaeps
6,51,51,4, 6,-0.5,5.5,"np F2x all" 87, 6,111,114,4, 400,-1,1, 'dxF1x p3 x2g" 30000
6,61,61,4, 6,~0.5,5.5,"np F3x all* 88, 6,111,114,4, 400,-1,1, 'dxFlx p4 x2g" E
6,71,71,4, 6,~0.5,5.5,"np F3y all” 89, 6,115,118,4, 400,-1,1, 'dxFly p3 x2g’ F =
gg, 2.115.118,4, 400,-1,1,'dxFly p4 x2g' 120000 E
ate on #planes , 6,121,124,4, 400,-1,1,"dxF2x p3 x2g' . F F
o o e Py P P ray ! 92, 6,121,124,4, 400,-1,1, dxF2x p4 x2g’ ; E F E
13,14,15 23,24,25 33,34 43,44 53,54 63,64 93, 6,131,135,4, 400,-1,1,'dxF3x p3 x2g' - 0000 i 10000
, ,24, , , , 164,65 73,74 | 94, 6,131,135,4, 400,-1,1, 'dxF3x pd x2g" - E F
ate on chi square . 95, 6,131,135,4, 400,-1,1, 'dxF3x p5 x2g" o E 0 F
Y ” ” 96, 6,136,139,4, 400,-1,1, dxF3y p3 x2g" X 2 0 2 -
4 51 e 7 . 97, 6,136,139,4, 400,-1,1, dxFly p4 x2g" : : , ,
. o7 A, A5, TaxESy P4 x2g - ID=56,N=499576 - ID=57,N=967480
oincidence it 1 dx F3y p3 Ix F3y p4
81,82,83 84,85,86 87,88 89,90 91,92 93,94,95 96,97 s -




L07

8000 10000 7500
6000
5000
4000 3000 |-
2000 - j \‘ 2500
0 0 oy Ly 0
-1 0 1 -1 0 1
ID=58,N=178767 1D=59,N=402948 ID=60,N=358465
dxBx p3 x2g dxBx p4 x2g dxBx p5 x2g
10000 f ] 15000 10000
7500 7500
5000 5000
r 5000 -
2500 2500
o Lo Jih 1 0 0
-1 0 1
1D=61,N=182301 1D=63,N=357240
dxBy p3 x2g dxBy p4 x2g dxBy p5 x2g
A& B] 20000
8000 1 e E 10000
6000 |- . m;;; 15000 E 7500
£ 5 E
000 10000 5000
2000 j k 5000 ; j \ 2500
0 C Loy 1 0 £ T L1 0
-1 0 1 1 0 1
ID=64,N=197583 ID=65N=633172 ID=66,N=256014
dxFlxp3x2g ° dxFix p4 x2g dxFly p3 x2g
*<0.06
X o —»P (02 puse

2009/05/25 21

rund36
15000 i 20000 E ,
16000 15000 ‘ =
10000 £ ’
5000 E
0001 (VO 0 WO el 55
0 C 1 11 0 Lot i 11 0 :I Ll 1t
-1 0 1 -1 0 7 -1 0 1
1D=67,N=528632 ID=68,N=314202 ID=69.N=664572
dxFIypd x2g dxF2x p3x2g dxF2x pd 12g
4000 - ”"’E’ 10000 [ E
N ) 10000 |- 75
. 49 000 E 7
w00 1 > 5000 £ ;
H 2500 £ j \
C Lo A BNy
- - . 0 L
0 0 T 4o 1
1D=70,N=109359 1D=71,N=398956 ID=72,N=576900
dxF3x p3 x2g dxF3x p4 x2g dxF3x p5 x2g
000 r 15000 [~ ~:
oo E ot F 3T
E 457 10000 F 78
000 - JL s000 E
0 Cooa g I 0 C 1l

<

“

0 1

ID=73N=326928
dxF3y p3 x2g

L

ID=74,N=556448
dxF3y pd x2g

0.0426

i 0.0711

0.0847

| ©.0366

0.0612
9.0727
9.0546
0.0751
©.0505
?.0809
0.0464
0.0707
2.0505
0.0802
0.0937
0.09432
2.0694
0.0412
0.0646
0.0742

' 9.0359

9.08559
©.0667
0.0499
0.0639
0.0477

| ©.0748
: 0.0426
| 0.0643

0.0466
9.0733
©.0860
0.0425
0.0653

63.
60.
. 7802
-2507
6647
8756
.9850
.4615
.8380
4678
7912
. 6887
4415
8079
.3369
.3925
.2367
.5965
.1655
4591
.6176
.9404
.3882
.6422
8620
.4829
.4120
-4208
48.
72.
61.

55.0198
52.8203
44,1467
4727
7592

6893
5186
5901

0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
0.0002
0.0002
0.0001
0.0001
0.0001
0.0001
2.0001
0.0002
0.0001
0.0001
0.0001
0.0001
0.0001
0.0001
2.0001
0.0001
2.0001
0.0002
0.0001
0.0001
0.0001
0.0001

0.0001
0.0001
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0.0001
0.0001
2.0002
@.0002
0.0001
0.0001
0.0001
©.0001
©.0001
0.0002
0.0002
©.0002
@.0001
0.0001
2.0001
2.0001
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0.0001
0.0001
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0.0002

0.0001.

0.0001
@.0001
0.0001
0.0001
0.0002
0.0002
0.0002
0.0001
0.0001

9.31
1.62
1.16
13.30
3.68
.78
6.51
17.39
7.31
1.37
12.41
6.54
2.42
2.56
1.45
6.42
0.98
7.04
2.56
0.22
11.07
2.33
0.25
4.46
12.44
6.30
0.65
‘8.13
4.23
1.45
2.10
0.62
4.48
1.16

dx Bx p3
dx Bx p4
dx Bx pS
dx By p3
dx By p4
dx By p5
dx Fix p3
dx Fix p4
dx Fly p3
dx Fly p4
dx F2x p3
dx F2x p4
dx F3x p3
dx F3x p4
dx F3x p5
dx F3y p3
dx F3y p4
dx Bx p3 x2g
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L09 yun t4t veactiendviy  S0kHz 11C
c gate on #planes ’ YUN 441 TDC himit 0
c Bx By Flx Fly F2x F3x F3y #Events : 210282
¢ 13,14,15] 23,24,25| 33,34 | 43,44 | 53,54 63,64,65| 73,74 Next Raw Data File 7 [y/n: n] > Name © Sum(M) M1 M2 M3 M4 M5+ MWL MWZ  MW3 M4+ M

¢ MC3  MC4+  :Tot/Ana : 210282 210282
. BDCx1 @ 80.92 43.36 22.24 9.64 3.74 1,94 52.29 22.79 5.07 0.77 60.97 15.87 3.36 0.72
€ gate on chi square BDCx2 : 84.37 43.44 23.40 10.63 4.38 2,51 52.22 24.63 6.36 1.16 62.24 17.58 3.72 0.84
c 11 21 31 41 51 61 71 BDCx3 : 87.53 43.46 24.58 11.62 4.83 3.03 51.36 27.07 7.59 '1.52 64.17 18.49 4,01 ©.87
c BDCx4 : 88.92 44.20 25.22 11.69 4.90 2.92 52.79 27.25 7.45 1.43 64.85 19.14 4,04 0.89
- BDCXS @ 91.49 44.02 26.22 12.51 5.48 3.33 52,17 29.12 8.40 1.79 6639 19.87 4.29 0.94
¢ coincidende BOCyl : 84.48 43.06 23.34 10,97 4.43 2.68 50.55 25.33 7.19 1.40 63.39 16.87 3.47 0.76
¢ 81,82,83| 84,85,86| 87,88 | 89,90 | 91,92{ 93,94,95 | 96,97 BOCyz : 87.35 43.60 24.43 11.57 4.78 2.97 51.45 26.71 7.67 1.52 6€5.14 17.76 3.65 0.80
BCy3 @ 89.17 44.36 25.03 11.72 4.99 3.87 52.09 27.42 8.8l 1.65 66.47 18.13 3.77 0.79
BOCy4 : 89.94 44.81 25.28 11.84 4.95 3.05 53,47 27.34 7.65 1.48 66.76 18.34 3.96 0.88
BOCyS : 88.76 46.61 24.77 10.80 4.29 2.28 55.71 25.65 6.40 1.00 66.74 17.63 3.63 0.75
EDC1x1 : 58.08 35.77 15.20 5.87° 1.52 0,52 45.99 10.85 1.16 0.08 41.53 12.68 3.09 ©.79
FOC1x2 : 59.64 34,66 15.67 6.16 2.19 0.96 42.92 14.94 -1.71 0.09 44.24 12.27 2.56 0.58
FDC1x3 : 57.25 35.03 14.84 5.21 1.60 0.58 41.72 13.42 1.95 0.16 43.32 11.27 2.20 ©.45
FDC1x4 : 60.71 36.12 16.17 5.95 1.80 0.68 46.63 12,51 1.48 0.09 42,57 13.64 3.54 0.95
P FDC1yl : 61.30 36.14 16.23 6.13 2.00 ©.81 46.77 13.26 1.27 0.81 47.15 11.28 2.37 ©.50
FDCly2 : 68,23 36.60 18.36 8.16 3.30 . 1.81 44.94 19.25 3.77 0.27 50.98 13.65 2.94 0.67
FDC1y3 : 68.83 36.43 18.72 8.39 3.40 1.90 44.63 19.69 4.18 0.33 50.97 14.84 3.11 ©.70
. FOCly4 : 56.25 34.67 14.47 5.06 1.51 0.54 45.36 20.11 0.76 0.02 42.06 10.99 2.61 ©.60
°oTDCA mga/fé FDC2x1 : 47.25 29.53 11.76 4.09 1.31 @.55 33.07 11.16 2.54 0.48 34.77 9.9 < 2.08 0.44
N . FDC2x2 : 48.22 29.47 12.23 4.51 1.44 ©.58 33.07 11.71 2.90 0.56 34.83 10.57 2.35 0.4
‘871%1\’5“-33 #’ FOC2x3 : 48.57 29.50 12.41 4.48 1.55 0.64 33.16 11.89 2.92 ©@.61 34.92 10.75 2.39 .53
° :£~ Ao FDC2x4 : 49.18 29.17 12.68 ~4.91 1.68 ©.75 32.93 12.35 3.22 0.68 34.9¢ 11.07 2.65° 0.57
SW@ ’\5'; FDC3x1 : 49.32 30.13 12.52 4.57 1.50 ©.60 34.21 12.32 2.46 0.3z 37.55 9.64 1.820 0.32
. FDC3x2 : 50.52 30.26 12.77 5.80 1.78 ©.80 34.49 12.54 2.98 0.51 36.98 10.62 2.39 0.53
FDC3x3 : 49.75 30.26 12.44 4.76 1.60 0.69 34,39 12.13 2.79 0@.45 37.09 10.18 2.12 0.44
M ! FDC3x4 : 49.45 29.97 12.46 4.76 1.57 ©.70 33,79 12,36 2.83 0.47 37.06 10.86 1.95 0.37
q/ s _ FDC3xS : 48.82 29.79 12.29 4.61 1.47 ©.68 33.86 11.94 2.62 0.41 33 s6 9.83 2.03 o.;g
e A FTE« R FOC3yl : 50.89 30.21 13.06 5.05 1.73 ©.83 34.48 13.14 2.84 0.43 38.49 10.07 1.94 0.
e W BHESATULS, FOCiyz . 49.61 30,08 12.59 4.72 1.5 0.65 34.71 12.09 2.45 0.35 37.50. 9.7 1.03 0.3
FDC3y3 : 49.32 30.02 12.48 4.63 1.52 ©.69 34.60 11.92 2.46 0.35 37.38 9.67 1.90° 0.38
%% Kappa Commissioning MT exp_may@9 %% FDC3y4 : 50.41 30,08 22.77 5.00 1.74 ©.82 34.23 12.76 2.95 0.47 37.82 10.15 2,05 0.39
Read_beam: TDC:[ 10,3900 tcal(l) ped(0) gain(l) dT_off(8) T_off(1)
Read_fera: prm/fera.map opened
prm/fera.map read in, #def= 7
Read_fera: prm/file_fera opened TUn k| TDC [imit oﬂlp& ﬁ)')
hit(4) TDCC 10,2000) ped(®) gain(l) tcal(l) dt(l) tofoff(1) #Events : 210282
Read_dclim: prm/dclim.prm opened Next Raw Data File ? [y/n: n] > Name : Sum(M) ML M2 M3 M4 M5+ MWL Mw2 MW3 MW4+  MC1
TDC_limit_check_OnOFf(1) MC2  MC3  MC4+  :Tot/Ana : 210282 210282
ip o> limit#: 11111111111)222222 2013333000000 1444444444 BDCx1 : 70.31 56.28 11.87 1.86 ©.25 0.95 58.81 10.38 1.03 0.10 63.71 6.18 0.40 -0.02
#def= 4 : (1800,2298) ( 975,2339) (150@,2213) (1450,2269) ( - BDCx2 75.51 58.52 14.84 2.52 0.36 0.67 61.18 12.73 1.45 0.14 67.54 7.43 0.51 0.03
Read_Stc: start reading prm/file_stc BDCx3 80.20 60.12 16.33 3.13 0.49 0.09 62.78 15.30 1.93 0.19 70.55 8.88 ©@.73 0.05
2: IPTODCCI:39) 1111111211102222222200 3333000000/ 444444444 BDCx4 82.08 61.48 16.83 3.19 0.50 0.07 64.21 15.78 1.99 .19 72,22 9.11 0.76 0.05
: ICH_STC [ch]= 4000 BDCXS 85.73 62.10 19.10 3.81 0.63 0.10 65.07 17.98 2.43 .25 74.05 10.76 ©.87 ©.05
4: Read STC for DCC 1), #data- 4000 (1800:2298) BDCyl 75.63 57.63 14.78 2.72 0.42 0.88 60.23 13.65 1.58 0.18 67.63 7.43 0.5¢ 0.03
DCC 2), #data= BOCy2 79.94 6€0.00 16.24 3.11- 0.51 0.08 62.87 15.88 1.79 ©.19 71.10 8.18 0.62 ©.03
DC( 3), #data= File=prm/stc_r436/203.stc i BDCy3 82.30 61.73 16.83 3.16 0.5¢ 0.09 64.58 15.65 1.88 ©.20 73.10 8.53 0.64 0.03
DCC 4), #data= 4000 (1450:2269) file=prm/stc_r436/f302.stc | BDCy4 83.42 62.91 16.91 3.05 @.46 .08 66.09 15.42 1.74 ©0.16 74.28 8.49 ©0.60 0.04
4-kinds of STC parameters read in. | BDCYS 81.30 64.15 14.5¢ 2.32 0.29 0.04 67.07 12.83 1.30 0.10 73.33 7.47 0.49 .0.02
Read_dctrack: tracking_on/off= 1111111 FDC1x1 44.27 35,03 7.77 1,25 .19 0.03 38.62 5.27 .35 0.02 37.72 5.8 .63 0.07
save_deviation(1l) chi2_cut(1) - . . FDCIx2 : 45.99 35.36 8.65 1.7¢ 0,29 0.06 39.12 6.42 0.44 0.02 39.13 6.10 0.69 0.8
( ©.067 0.046 ©.038) ( ©.067 ©.046 0.038)  0.067 0.046 0.038)  0.067 ©.046 0.038) FDC1x3 : 43.18 33.96 7.70 1,31 0.17 0.04 36.90 5.79 0.46 ©.03 37.80 5.54 0.57 0.06
( 0.067 ©.046 0.038) ( 0.067 0.046 0.038) ( 0.067 0.046 0.038) FDC1x4 47.71 36.69 9.08 1.65 0.24 0.05 40.82 6.41 0.46 0.02 39.91 6.89 0.83 0.09
© FDClyl 47.97 37.17 8.94 1.58 0.25 0.03 41.36 6.26 0.34 0.00 42,37 S5.14 0.42 0.03
i FDCly2 57.05 40.88 12.54 2.88 0.61 0.14 45.58 10.36 1.06 ©0.05 47.94 8.67 0.94 0.10
FDCly3 57.81 40.80 13.07 3.15 0.64 0.15 45,60 10.96 1.20 9.06 47.96 8.70 1.5 0.11
- . | FDC1y4 41.42 33.23 6.92 1.11° 0.14 0.02 36.3¢ 4.39 0.19 ©0.00 36.76 4.32 0.32 0.01
. . FDC2x1 26.07 22.20 3.37 ©.44 0.05 ©.01 23.11 2.71 ©0.23 ©.02 23.36 2.51 0.19 0.01
FDC2x2 27.37 23.61 3.77 @.51 0.07 0.01 24.00 3.04 0.29 0.03 24.3¢ 2.82 0.22 0.02
S FDC2x3 @ 27.79 23.29 3.87 ©.56 9.06 .01 24.32 3.14 0.30 0.02 24.59 2.92 0.26 0.2
FDC2x4 : 28.62 23.65 4.24 0.64 ©.07 0.01 24.78 3.46 0.35 . 0.03 25,18 3.13 0.29 0.02
i FD(3x1 : 29.52 24.56 4.21 0.65 ©0.08 0.02 25.69 3.48 0.33 0.02 26.47 2.81 0.22 0.02
H FDC3x2 : 30.95 25.33 '4.67 0.81 0.12 0.02 26.51 3.96 .44 0.05 27.31 3.29 ©.33 0.02
FD(3x3 : 29.97 24.70 4.43 .71 0.10 0.02 25.83 3.7 ©0.38 @.04 26,57 3.11 0.27 0.02
FD(3x4 : 29.78 24.42 4.48 0.74 0.11 .02 25.55 3.80 0.39 0.04 26,35 3.13 0.28 0.02
FD(3xS : 28.67 23.30 4.16 0.62 0.08 .02 24.87 3.46 ©0.32 ©0.03 25.55 2.87 0.24 0.01
FDC3yl : 31.44 25.68° 4.76 0.83 0.13 0.04 26.88 4.06 0.44 ©.05 27.98 3.17 0.27 0.02
FDC3y2 : 29.89 24.60 4.43 0.72 0.10 0,03 25.79 3.68 0.37 0.04 26.68 2.95 0.24 0.02
FOC3y3 : 29.47 24.28 4.39 0.68 0.10 0.03 25.43 3.61 0.33 0.04 26.29 2.94 0.23 0.02
FDC3y4 : 30.95 25.17 4.8¢ ©0.83 0.12 0.03 26.39 4.08 .0.43 .0.05 27.41 3.21 0.31 0.2
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BRRERRRERERSSROLNANERN YR B2 RS

119 6 ziovess xd
»»»»»» z-3 Tot/Ana : 193917 21758
BOCx1 : 95.79 78.86 15.51 1.99 ©0.19 0.05 81.63 13.87 1.83 0.07 87.32 8.85 O
- Tot/Ana : 193917 34004
80Cx1 79.61 15.50 2.21 ©.26 0,01 83.45 13.10 0.9 0.04 89.31 7.82 0.43 0.02 $3§: ﬂg Qﬁ 3% iﬁ %ﬁ 3% Qg gﬁ ?ﬁ %5 ﬁ% iﬁ 3
BDCxZ 77.77 17.39 2,90 0.3¢ 0.05 81.45 15.49 1.43 0.10 89.61 8.30 0.51 0.04 BDCx4 : 97.95 75.67 18.32 3.40 0.52 0.4 79.34 16.60 1.91 ©0.10 88.31 9.04 0
BDCx3 75.89 18.86 3.31 @.49 0.07 79.48 17.28 1.73 0.14 8.11 8.87 0.61 0.04 BDCxS : 98.27 73.56 19.89 4.10 0.63 0.10 77.05 18.78 2.25 .0.19 87.60 9.0 O
Eieed 76.36 18.30  3.37 0.50 0.05 79.96 16.72 1.77 0.14 89.35 .57 0.65 0.03 b BDCyl : 97.42 75.66 18.11 3.17 0.40 0.08 79.15 16.46 1.68 0.13 £3.13 8.69 0.
BOCKS 74.39 19.87 3.75 ©.46 0.10 78.01 18.39 1.99 0.19 83.20 9.63 0.72 0.02 BDCyZ : 97.92 74.79 19.17 3.47 0.44 ©.05 78.48 17.45 1.86 ©0.13 88.47 8.87 0
BDCy1 76.96 18.26 2.85 .46 0.06 80.63 16.31 1.54 0.12 89.60 8.47 0.50 0.03 BDGS . 9709 7484 1915 345 0.44 0.03 vA.%0 17.9% 1.7 017 8821 o086 o
B0Cy2 75.69 18.95 3.47 0.53 0.07 79.20 17.47 1.92 0.12 89.34 8.75 0.5 0.03 BOGy4 . 97.% 75.64 1539 3.37 046 0.04 7931 1677 176 011 3534 .08 0
BDCy3 76.90 18.51 3.50 @.51 0.07 79.38 17.22 1.84 0.15 89.30 8.68 0.60 0.0l BDCyS ¢ 96.91 78.21 16.28 2.11 0.27 0.04 81.89 13.83 1.05 0.87 88.28 7.9 ©
B80Cy4 76,30 18.30 3.32 .51 0.05 79.92 16.65 1.80 0.10 88.98 8.80 0.65 0.04 FDCixl : 65.60 55.76 8.73 1.01 0.00 0.00 59.96 S.41 0.23 000 59.12 6.0l 0
BICyS  : 78.79 16.34 2.28 .20 ©0.02 82.35 14.13 1.11 .04 89.13 8.00 0.48 0.02 FDC1x2 : 71.63 59.44 10.81 1.21 0.14 0.02 64.31 712 0.20 0.0l 64.24 6.9 0
FDClxt : 98.07 83.50 12.99 1.46 ©.11 0.01 91.93 6.02 ©.12 0.00 87.97 9.41 0.66 0.03 FOCLX3 : 49.79 42.74 6.29 0.71 0.04 0.00 45.97 3.67 0.15 0.00 44.35 4.97 ©
FOC1x2 : 97.80 81.15 14.35 2.04 0.24 ©.02 90.47 7.21 @.13 0.00 86.83 10.09 0.82 0.06 FOCIxé : 74.93 61.23 11.84 1.65 0.19 0.02 66.40 8.15 0.36 0.02 66.38 7.72 @
FOC1x3 : 94.84 83.21 10.25 1.29 0.9 ©0.01 88.72 5.89 0.23 0.00 B7.84 6.38 0.5 0.03 FDClyl : 72.86 59.35 11.12 1.46 0.12 0.01 64.59 7.22 0.25 0.00 65.26 630 0
FOClx4 : 98,37 81.40 14.63 2.12 0.21 0.62 91.90 6.34 0.13 ©0.00 86.48 10.81 1.02 0.06 FICIZ © 79.03 6L.07 15.35 7.03 0.3 .02 05.90 1151 0.6 0.0 G340 888 o
FOClyl : 98.31 81.18 14.86 2.4 0.21 0.63 90.23 7.9 0.17 .00 88.25 9.35 0.69 ©.02 FDCY3 . 79.68 60.41 16.30 2.47 042 0.07 G670 12.80 0.68 0.00 €9.22 545 o,
FOCly? : 98.25 76.71 17.75 3.23 0.48 0.07 86.67 11.69 .48 0.02 85.81 11.20 1.11 0.12 mnn' 65.58 S6.75 8.00 .74 0.09 0.0l 60.84 4.57 0.16 0.00 60.41 4.90 @
FOCly3 : 98.25 76.20 17.80 3.61 @.54 0.10 85.41 12.12 .70 0.02 85.62 11.31 1.21 0.1 OGN . 48.91 44.77 3.79 0.1 0.04 0.0 4580 2.9 017 002 4575 2.6 o
FOClyd : 97.79 83.69 12.51 1.47 0.1 0.00 91.78 5.91 0.11 0.00 83.74 §.45 ©.59 0.01 EDC2x2 : 5S.11 49.76 5.00 ©.36 ©0.04 0.82 51.31 3.62 0.16 0.02 50.58 4.28 ©
FDC2xL : '95.26 82.88 11.26 1.85 ©0.66 @.01 86.95 7.91 0.39 0.01 8.5 7.37 0.38 0.01 FDC2x3 : 57.39 51.43 5.46 0.44 ©0.04 0.02 53.15 4.05 0.17 0.03 52.55 4.57 0
FDC2x2 : 95.83 82.34 12.22 1.20 0.07 ©.00 86.47 8.85 ©0.49 0.01 8§7.41 7.95 0.45 0.01 FDC2x4 : 61.01 54.07 6.31 ©.56 ©0.05 0.02 55.09 4.73 0.25 0.04 55.29 5.36 ©
FDC2x3 : 96.86 82.86 12.56 1.31 @.11 ©.01 86.43 9.02 0.57 0.04 87.27 8.29 0.48 0.22 FDC3x1 : 65.08 58.84 S5.82 0.39 0.03 0.00 60.15 4.77 0.16 0.00 60.33 4.5 @
FOC2x4 : 96.42 80.88 13.87 1.51 ©.14 0.01 85.89 9.85 0.65 0.02 86.79 9.08 .54 ©.02 FDC3x2 : 71.49 63.51 7.25 ‘.65 0.05 0.02 65.07 6.0 ©.39 0.03 €5.45 5.73 0
FOC3x1 : 99.80 85.27 12.89 1.58 ©.14 0.61 89.97 9.37 0.46 0.01 91.71 7.56 ©0.50 9.3 FOC3x3 : 67.40 60.57 6.26 ©.51 0.05 0.00 61.83 5.22 0.28 0.02 62.12 4.98 0.
FOC3x2 99.75 83.38 14.28 1.87 ©0.20 0.02 83.11 10.86 0.74 0.04 -90.52 8.58 0.60 ©0.05 FDC3x4 : 66.25 59.42 6.18 0.58 .04 0.02 60.87 5.01 0.3¢ 0.02 60.99 4.98 0
FDC3x3 99.71 84.39 13.5¢ 1.7 ©.16 ©.01 83.88 10.20 ©.63 0.01 90.88 3.30 .51 0.02 FDG3x5 : 61.55 55.75 5.29 0.46 ©0.03 ©.02 56.91 4.38 0.25 002 57.22 411 ©
99.49 83.32 14.01 1.93 0.20 ©0.04 88.05 10.65 0.76 0.04 90.05 8.78 0.61 0.06 FDC3yl : 72.24 64.15 7.30 0.73 ©0.04 0.01 65.79 6.12 0.30 0.03 66.43 5.45 @
99.49 84.86 12.83 1.64 ©.15 0.01 89.11 9.70 0.66 ©.61 91.13 7.83 0.51 0.01 FDC3y2 : 66.71 S9.54 6.50 0.63 ©0.03 0.0 61.04 5.40 0.25 ©.02 61.62 4.78 0.
99.83 83.54 14.17 1.89 0.19 0.04 88.15 10.91 .72 @.05 90.93 8.35 0.51 0.04 FDC3y3 : 64.73 58.21 S5.91 0.58 0.03 .01 S9.71 4.73 0.28 .01 60.09 4.4 ©
99.17 83.54 13.79 1.63 0.20 0.01 88.17 10.43 0.56 ©.02 92.56 8.63 0.55 0.04 e FOC3y4 : 71.16 63.17 7.21 @.70 0.86 ©.02 G4.85 5.95 0.32 B.04 6540 5.38 @
99.23 84.31 13.21 1.56 ©0.14 0.01 88.95 9.73 0.54 ©.01 90.92 7.83 0.45 0.03 o ’ . . : ! ’ ’ : :
99.46 82.71 14.47 2.00 ©.25 . 0.04 87.60 11.16 0.67 0.04 89.94 8.77 0.71 0.04 | 222 Tot/Ana : 193917 76698
> BDCx1 : 92,15 75.06 14.73 2.07 0.25 0.03 78.41 12.64 0.99 0.10 84.17 7.53 0.
Tot/Ana : 193917 16767 1
97.07 79.19 15.57 2,12 .16 0.03 83.06 13.06 0.89 0.05 88.69 7.93 0.43 0.0 Woc | s s len 39 651 ooy yem bos fas oy e o3 o
98.31 77.96 17.25 2.62 0.44 0.04 81.53 15.3¢ 1.34 0.10 89.46 8.28 0.53 0.04 BDCx4 : 96.37° 73.85 18.60 3.38 @.47 ©.06 77.39 17.83 1.83 0.12 86.72 8.99 @
98.47 75.65 18.97 3.30 ©.52 0.04 79.11 17.41 1.83 0.12 89.01 8.84 0.60 0.01 BDCxS : 97.07 72.82 19.71 3.88 ©.57 0.09 76.29 18.40 2.18 0.20 86.64 9.65 ©
98.50 76.32 18.70 3.01 0.4 0.05 80.06 16.71 1.62 0.11 89.04 8.89 0.54 0.03 L BDCyl : 95.10 73.15 18.16 3.25 0.46 0.08 76.53 16.68 1.71 ©0.18 85.71 8.76 ©
98.44 74,53 19.74 3.58 0.5 ©.08 77.96 18.39 1.94 0.14 88.42 9.18 0.79 0.04 80Cy2 : 96.22 73.34 18.7¢ 3.58 0.53 0.07 76.92 17.26 1.89 ©.16 86.66 8.89 ©
98.46 76.26 18.45 3.18 0.49 0.08 79.85 16.79 1.68 0.14 89.09 8.79 0.54 0.05 8DCy3 : 96.60 73.79 18.86 3.37 0.51 0.07 77.19 17.34 1.91 .15 87.13 8.85 @
98.70 75.85 18.55 3.70 0.51 ©0.09 79.58 16.91 2.03 0.18 88.98 9.04 0.66 0.03 BOCy4 : 96.58 74.49 18.36 3.27 0.42 0.05 78.17 16.67 1.64 ©.11 87.29 8.66 ©
98.73 75.60 18.96 3.48 0.58 0.10 79.30 17.24 2.2 ©.17 88.95 9.10 0.65 0.03 BDCyS -: 95.71 77.35 15.79 2.28 ~©.27 0.2 80.83 13.69 1.12 ©.08 8733 7.85 @
98.47 76.31 18.25 3.48 0.39 0.04 79.8¢ 16.79 1.74 0.11 89.20 §8.71 @.55 0.01 FOCIx1 : 32.43 27.62 4.27 0.4 0.84 0.91 29.45 2.8 0.11 0.0l 29.31 2.89 @
97.59 78.63 16.28 2.31 0.37 0.01 82.08 14.31 1.14 ©.05 89.18 7.85 @.53 0.02 | FDCLx2 : 38.35 31.81 5.74 0.74 -0.06 0.01 34.21 4.00 0.13 0.00 34.42 3.62 O
96.21 83.66 11.15 1.28 @.11 ©0.00 9.56 5.46 0.17 .01 87.49 ‘8.11 0.57 0.03 | FDCIx3 : 32.68 27.72 4.47 0.45 0.04 0.00 29.73 2.84 '9.12 0.00 28.82 3.56 @
96.34 82.63 11.98 1.57 @.14 ©.02 89.83 6.36 0.14 0.0t 87.25 §.40 0.66 0.03 FOC1x4 : 41.11 33.48 6.76 0.91 0.28 0.02 36.03 4.85 0.22 0.0l 36.16 4.50 @
91.56 §1.82 9.39 1.3 0.11 .02 85.91 5.45 0.20 0.00 85.01 6.06 0.45 0.04 U FDClyl . 40.71 33.62 6.20 0.77 0.10 @.01 36.22 4.3¢ 0.15 0.00 36.99 3.47 0
96.73 81.68 13.29 1.59 0.14 0.02 90.08 6.49 0.16 0.00 86.48 9.40 0.78 0.07 | FDClyz : S2.25 39.89 10.53 1.59 0.22 0.03 43.44 B8.35 .44 0.02 4532 6.32 0.
96.56 82.15 12.80 1.48 ©.11 ©.02 89.60 6.81 0.15 0.01 88.04 8.03 0.47 0.02 FOCly3 : 53.52 40.41 11.04 1.78 0.25 ©.03 44.17 8.75 0.59 0.01 45.88 6.95 @
97.19 79.2 15.31 2.40 ©0.40 0.26 86.41 10.16 0.61 0.02 86.90 9.45 0.78 0.07 FOCly4 : 30.63 26.48 3.72 0.38 0.04 0.00 28.24 2.32 0.07 0.00 28.32 2.18 0
FOCly3 : 97.18 78.65 15.69 2.52 0.29 0.04 86.13 10.53 0.49 0.03 86.84 9.54 0.76 0.05 U FDCZxl : 16.14 14.70 1.33 .10 0.21 0.60 15.04 1.04 0.05 0.01 14.98 1.1 ©
FOCly4 : 96.27 83.61 11.50 1.07 0.07 0.2 90.80 5.35 0.11 0.01 88.19 7.64 0.42 0.02 FDC2x2 : 19.26 17.27 1.82 8.15 ©.e1 0.00 17.73 1.46 0.07 0.01 17.64 1.53 @
FDC2x1 : 92.20 82.69 8.7l 0.71 0.09 0.00 85.85 6.00 0.3¢ 0.02 85.87 6.01 0.30 0.02 FDC2x3 : 20.33 18.10 2.02 0.19 ©.02 ©0.81 18.59 1.62 0.10 0.02 18.53 1.69 @
FOC2x2 : 93.19 83.01 9.35 ©0.78 0.04 0.01 86.27 6.57 0.32 0.03 86.43 6.44 0.32 0.01 FDC2x4 : 22.43 19.78 2.37 0.25 ©.02 0.01 20.32 1.95 ©.13 ©.01 20.22 2.04
FDC2x3 : 93.56 82.65 9.92 0.88 0.88 0.02 86.43 6.64 0.47 0.02 86.17 7.01 0.36 0.02 FDG3x1 : 22,93 20.37 2.34 ©.19 ©.02 0.01 20.85 1.95 ©0.12 0.01 20.95 1.87 0
FOC2x4 : 93.77 81.52 11.0¢ 1.1z 0.11 ©.62 85.51 7.74 ©.50° 0.03 85.65 7.63 0.47 0.03 FDC3x2 : 27.24 23.00 3.02 0.26 ©.03 ©0.02 24.48 2.58  0.14 ©0.03 24.55 2.54 ©
FOC3x1 : 98.90 87.80 9.97 1.84 0.08 ©.01 91.32 7.2l 0.35 0.03 92.45 6.07 0.37 0.01 | FDG3x3 : 24,25 21.40 2.55 .26 ©.02 .02 21.91 2.17 0.15 ©0.02 21.94 2.15 ©
FOC3x2 : 99.04 86.46 11.11 1.28 0.17 ©.62 9.12 8.36 0.52 0.05 91.47 7.11 0.42 0.04 | FOC3x4 : 24.24 21.37 2.61 0.23 0.82 ©.02 21.92 2.17 ©0.12 ©.03 21.93 2.18 ©
FDC3x3 : 98.84 87.03 10.56 1.17 @.06 0.02 90.59 7.75 0.47 0.02 91.57 6.77 0.48 0.02 | FDC3x5 : 21.15 18.91 2.63 0.18 ©.01 ©0.01 19.32 1.70 ©.10 ©0.02 19.37 1.67 ©
FOC3x4 : 98.67 86.09 10.53 1.31 ©.13 0.02 89.75 7.74 0.54 0.03 90.92 6.66 0.45 0.94 FOC3yl : 27.97 24.45 3.13 0.3 ©.03 0.02 25.18 2.59 0.16 0.04 25.38 2.42 @
FDC3XS : 98.34 87.12 10.83 1.09 ©0.09 0.01 90.49 7.46 0.35 0.04 91.46 6.39 0.46 0.03 FOC3y2 : 24.83 21.92 2.62 0.25 ©.62 ©0.02 22.51 2.18 @.12 @.03 22.70 2.02 O,
FOC3yl : 99.13 86.81 11.52  1.43 0.16 0.62 92.08 8.44 0.59 0.02 51.42 7.17 0.5 0.04 FDC3y3 : 23.75 21.05 2.41 0.24 ©.03 ©.02 21.63 1.98 0.12 .02 21.78 1.86 0.
FOC3y2 : 97.73 85.68 10.69 1.24 ©.11 0.01 89.46 7.81 0.44 ©.03 90.71 6.63 0.36 0.02 FOC3ys : 27.67 24.23 3.07 0.31 0.03 ©.03 24.89 2.60 0.15 0.04 2515 2.35 @
FDC3y3 : 97.41 85.92 10.32 1.06 0.10 0.6 89.62 7.37 0.41 0.02 90.61 6.46 0.33 0.02
FOC3ys : 98.46 85.51 11.58 1.25 0.10 0.03 §9.32 8.64 0.47 0.02 90.81 7.14 0.47 0.04 1 ceeeee 221 Tot/Ana : 193917 59623
- . BDCx1 @ 91.15 73.92 14.69 2.24 0.25 0.4 77.22 12.69 1.15 0.09 83.08 7.58 @
emen z=4 Tot/Ana : 193917 9077 ] : | BDCx2 : 93.65 73.20 17.11 2.85 0.44 0.05 76.71 15.32 1.48 0.15 84.65 8.41 0
BDCx1 : 96.67 79.38 14.89 2.14 0.25 0.01 82.33 13.32 ©.99 0.06 88.93 7.21 0.52 0.02 | BDCx3 i 94.95 72.59 18.48 3.31 0.43 0.08 75.97 17.00 1.83 ©0.17 8542 8.91 0
BDCx2 : 97.65 76.36 18.69 2.73 0.40 0.08 $0.49 15.64 1.383 0.14 83.08 8.97 0.56 0.04 ' | BDCxé : 95.62 73.35 18.35 3.39 ©.46 0.07 76.82 16.81 1.85 ©.14 86.14 8.82 O
BDCx3 : 98.11 75.33 18.95 3.27 0.50 0.06 78.85 17.31 1.80 0.15 83.36 9.12 0.62 0.01 | BDCXS. : 96.62 72.66 19.46 3.80. ©.59 0.11 76.01 18.27 2.12 ©0.22 86.04 9.76 ©
BDCx4 : 98.29 74.67 19.59 3.42 0.51 ©0.11 78.31 18.61 1.85 0.12 83.48 9.20 0.62 0.00 | BOCylL : 93.76 72.15 17.87 3.14 @.51 0.18 75.51 16.28 1.76 0.21 84.49 8.63 0
BDCXS : 98.42 73,63 20.55 3.75 ©0.40 0.1 77.28 18,98 1.97 0.19 87.84 9.88 0.63 0.08 BDCyz : 94.94 72.46 18.44 3.41 0.55 ©.08 75.92 17.01 1.84 0.16 85.63 8.67 @
8DCyl : 98.18 75.36 18.86 3.50 0.37 0.09 78.92 17.43 1.70 0.13 88.65 '8.95 0.54 0.04 i BDCy3 : 95.60 73.24 18.46 3.28 0.55 0.07 76.59 16.97 1.87 0.17 86.23 8.76 0
80Cy2 : 98.5¢ 75.30 18.66. 3.86 ©.53 ©.15 78.46 17.70 2.10 0.23 88.92 8.95 0.59 0.04 b © BDCys : 95.85 74.01 18.24 3.13 0.41 0.06 77.82 16.26 1.62 ©.14 86.36 8.87 ©
BOCy3 : 98.37 75.70 19.85 3.03 0.53 0.67° 79.16 17.3¢ 1.75 0.12 89.39 8.55 0.48 0.03 . BDCyS ¢ 95.37 76.72 16.00 2.34 0.27 .04 80.31 13.77 1.22 - ©.97 86.68 B8.13 0
B0Cy4 : 98.13 75.51 18.87 3.23 0.45 0.07 79.64 16.57 1.81 @.11 88.13 9.45 0.5 0.02 FOCIx1 : 28.01 24.33 3.26 ©.37 ©.e4 0.01 25.82 2.1z ©.09 0.0l 25.42 2.39 @
BDCyS : 97.40 77.99 16.61 2.49 0.31 ©0.00 81.69 14.48 1.20 0.03 83.80 8.11 0.48 0.01 | FDC1x2 : 29.95 25.70 3.77 0.43 ©0.05 0.01 27.46 2.40 ©.08 0.01 26.96 2.79 0@
FOCIxL : 89.24 76.41 11.34 1.37 0.11 ©.01 82.36 6.56 @.31 0.01 80.69 7.84 0.67 0.03 FOCIx3 : 26.86 23.33 3.15 ©.34 0.03 0.01 24.73 2.00 0.1 0.00 24.19 2.45 ©
FOC1x2 : 90.67 75.29 13.00 1.64 ©0.14 ©.00 81.51 8.32 0.24 0.00 81.27 8.15 0.64 0.01 FOCIx4 : 31.85 27.06 4.19 .51 0.67 0.02 28.89 2.81 ©0.14 0.01 28.41 3.14 0
FDC1x3 : 68.16 58.85 B.45 0.82 0.84 ©.00 63.25 4.74 0.18 0.00 61.34 6.38 0.41 0.03 i FOClyl : 32,40 27.66 4.22 0.47 0.05 0.01 29.59 2.72 0.08 0.00 29.72 2.50 @
FOCIx4 : 91.85 76.26 13.54 1.89 ©.14 ©.01 3.5 '8.02 .28 0.00 81.27 9.76 0.74 0.08 | FOCly2 : 41.62 33.66 6.85 0.97 0.12 0.02 36.42 4.92 0.27 0.81 36.55 4.64 0
FOClyl : 90.93 75.06 14.04 1.62 0.22 0.00 82.03 B8.67 0.23 0.00 82.30 8.14 0.47 0.02 b FOC1y3 : 42.81 34.46 7.09 1.09 0.14 .03 37.23 5.26 @.31 0.01 37.47 4.84 @
FDCly? : 92.86 72.05 17.36 2.92 0.43 0.1 79.18 12.92 @.75 0.01 81.41 10.33 1.00 0.1 FOCly4 : 24.61 21.85 2.50 0.24 ©.02 0.00 23.11 1.45 ©.05 0.00 23.00 1.5¢ ©
FOCly3 : 93.51 71.70 18.30 2.96 0.47 . 0.08 78.98 13.84 0.69 0.00 81.24 11.27 0.93 0.08 FOCZx1 : 12.15 11.06 ©.97 ©.11 0.01 0.01 11.46 0.69 ©.05 ©0.01 11.35 0.74 ©
FOClyd : 89.19 77.40 10.55 1.12 0.1 0.00 3.18 5.83 0.19 0.00 82.25 6.54 0.39 0.01 FDCZx2 : 13.54 12.24 1.19 0.89 ©.e1 0.00 12.60 0.88 0.05 ©0.01 12.60 ©0.91 ©
FOC2x1 : B2.77 74.80 7.23 ©.67 0.07 0.00 77.46 5.01 ©.26 0.03 76.81 5.59 0.35 0.62 ! FBC2x3 : 13.95 12.50 1.38 @.12 ©0.02 0.02 12.92 ©.94 ©.07 0.02 12,87 1.01 0
FDC2x2 : 84.62 75.92 8.02 0.63 0.84 ©0.01 78.70 5.67 @.22 0.02 78.09 6:15 0.36 0.02 FDCZx4 : 14.95 13.27 1.51 @.13 0.62 .01 13.77 1.10 ©.06 0.02 13.71 1.17 @
FOC2x3 : '84.97 75.13 8.87 ©0.87 0.09. 0.01 78.25 6.19 0.46 0.07 77.37 7.19 0.41 0.00 FDC3x1 : 14.75 13.31 1.27 .14 0.8z 0.01 13.67 ©.99 ©0.08 ©0.01 13.79 0.92 ©
FOC2x4 : 83.33 74.75 9.5l 0.97 018 0.00 77.91 7.0l @.41 0.80 77.46 7.36 0.51 0.00 FDC3x2 : 16.53. 14.69 1.65 ©.16 ©.82 0.02 15.16 1.26 ©.09 0.2 15.25 1.23 @
FOC3x1 : 92.55 82.98 8.76 0.78 .01 0.62 5.5 6.5 ©.39 0.02 85.88 6.35 0.3 0.00
FDC3x2 : 94.15 82.70 10.32 1.09 0.02 ©.01 5.2/ 8.39 ©.47 0.01 86.58 7.13 0.44 0.00
FDC3x3 ': 93.14 82.20 10.06 0.80 0.07 - ©.01 85.07 7.67 ©.35 0.04 85.67 7.15 0.30 0.02
FDC3x4 : 90.49 79.68 9.83 0.89 0.8 ©0.01 82,12 7.95 ©.41 0.01 83.25 6.79 0.42 0.03 FDC3x3 : 15.33 13.75 1.39 ©.16 0.1 ©.02 14.14 1.10 0.7 ©0.02 14.22 1.02
FDC3xS : 91.1 80.91 9.21 0.78 0.11 0.00 83.09 7.60 0.28 0.04 84.21 6.33 0.45 0.01 FOC3x4 : 15.160 13.49 1.39 ©0.18 0.02 ©.02 13.88 1.10 0.9 0.3 13.92 1.09
FDC3yl : 94.36 82.62- 16.52 1.15 0.08 0.00 85.35 8.51 0.48 0.02 86.54 7.34 0.47 0.0 . FDC3x5 : 14.11 12.71 1.25 ©.12 0.02 ©.01 13.03 1.00 0.06 ©.02 13.15 0.90
0.02 P . FDC3yl : 16.84 14.94 1.66 ©.19 0.03 @.03 15.42 1.30 ©.09 ©0.03 15.61 1.15
R 35 0.07 84.22 6.40 0.39 FOC3y2 : 15.42 13.76 1.44 0.17 0.62 0.03 14.19 1.13 0.07 0.04 14.36 1.00
e e e oo fp oo oo e ;.gg 035 oon Bi 662 0.26 0.2 | FDG3y3 : 14.96 13.41 1.3 0.15 ©0.02 0.4 13.79 1.05 0.07 0.04 13.93 0.95
FDC3§4 D e2.81 3062 10.99 1.04 0.13 ©.02 83.16 9.13 0.47 0.04 84.46 7.83 0.48 0.0 FOC3y4 : 16.25 14.40 1.60 0.20 0.e2 0.03 14.84 1.27 0.10 0.04 15.04 1.11
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e_tot(BDC)
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®e_tot(BDC)
© e_m1(BDC)
~®- e_tot(FDC1)
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